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The unit stress in the steel for the total load was 1,847

pounds per square inch, as found above.
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Considering now the stress in the concrete, which was
622 pounds per square inch for total load, we have.
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Taking the average of these two results, we have a
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Strip B at Centre Line of Columns

Fig. g shows a cross-section through strip B at the
centre line of columns indicating the position of the neutral
axis as determined from deformation readings.
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The bending moment according to Chicago By-law is
236,000 inch-pounds.
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Readings 583 and 784 give ¢ = 319 and s = 3,900 as
the stresses for total load.

To find the bending moment coeflicient corresponding
to these readings we have
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which gives Ms = 8 computed from stress in steel, also
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Table 1—Comparison of Recommendations of Chicago and
Philadelphia and Joint Committee Report
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Table 2—Comparison of Stresses for Live and Dead Loads
Combined According to Various Codes, with Those
Found by Test. Stresses are in Pounds
Per Square Inch
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